| Efficiency vs Dxy |
> 0.2 : : : : : : :
5 - 5 5 5 5 5 5

0 018 e
> - 5 5 5 5 5 5

Y S e R | R AU
© R A i L

GO0 LA b R R R
£ c A 1 S
B S A (- A S S
I
YIS SRS NS SRS | S . -
O e R RR R & |
004 |
0.02f i

510 15 20
TP dxy (cm)

t:gnal Yb&énouveuw 1660evt
C
—C
—C

%%ﬁéiégﬁ FELRYLTLIERS 1000evt

b
| Efficiency vs Dz | | = E

N 0.

o -
L0 0 o SO SO SO JO ) O S
' -
0 Y07 SO SO U SO SOUUSUSO N N S SO
G_) E [
o I ISR I S I SR I I DR 1
50.07:— -------------- e Rt 11 B0 | S
o r [ ]
006:_ """""""" | SR A Lo
0.0+ 110 S SO | 1
0.04f- b
Y & 1% LII |
0.02F -] AR L~
L
IQJ--UG:"""' P 1 IR
T i
v4 i
]__— L SEEEEERER E B

10 20 30
TP dz (cm)

09535 %0



	Contents
	Page 1


